

Clairwood Logistics Park
Basil February Road
Mobeni East
4060

Clairwood Logistics Park
Basil February Road
Mobeni East
4060



Selwyn@rsa.co.za

Liquor Runner Clairwood Clairwood

[Http://www.rsa.co.za](http://www.rsa.co.za)

GRV for FLARE BEVERAGES - LRSA NR: 2698 (GRV)

Receiver: Morganathan
Checker: Morganathan
Warehouse: CPT
Sender Ref 1: IBT01026127
Receive Date: 2025-01-15
Warehouse Recv: Clairwood
Sender Ref 2: LR Theft

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
TK0003	KAMIKI SAKURA WOOD 500ML			6	36
				13.00	78.00
				Total QTY Received	248.00
					5,913.00

Checked By: _____

Receiver: BK44VbZN

Transport Company: _____

Checker: BK44VbZN Theft

Driver Signature: _____

16/01/2025 09:51:56 AM

2/2

Clairwood Logistics Park
 Basil February Road
 Moberi East
 4060

Clairwood Logistics Park
 Basil February Road
 Moberi East
 4060



Selwyn@lrsa.co.za

Liquor Runner Clairwood Clairwood

Http://www.lrsa.co.za

GRV for FLARE BEVERAGES - LRSA NR: 2698 (GRV)

Receiver: Morganathan
 Checker: Morganathan
 Warehouse: CPT
 Sender Ref 1: IBT0102672
 Receive Date: 2025-01-15
 Warehouse Recv: Clairwood
 Sender Ref 2: LR Theft

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
Stock Received					
ferd016	ERDINGER WEISSBIER (24 X 330ML)			20	480
ferd001	ERDINGER KRISTALL (12 X 500ML)			20	240
ferd102	ERDINGER WEISSBIER CANS (24 X 500ML)			20	480
Fkk3-gp	KLEINER KEILER S CHERRY LIQUER (72 X 20ML)			20	1440
fcla005	CLAUSTHALER LEMON NON-ALC (24 X 330ML)			30	720
fcla001	CLAUSTHALER ORIGINAL NON ALC (24 X 330ML)			30	720
ferd014	ERDINGER WEISSBIER 20 LTR			20	300
ferd036	ERDINGER DUNKEL 20L DEPOSIT			20	300
fp0059	PAULANER MUNCHNER HELL CAN (24 X 500ML)			20	480
fp0053	PAULANER HEFE WEISBIER CAN 6 X 4 X 500ML			20	480
				220.00	5,640.00

KEG

ferd017	ERDINGER EMPTY KEG DEPOSIT 30L			0	10
				0.00	10.00

Stock Received

ferd007	ERDINGER BRAUHAUS RADLER LEMON (1 X 30L)			10	120
ferd008	ERDINGER BRAUHAUS HELLES (1 X 30L)			5	60
				15.00	180.00

KEG

ferd017	ERDINGER EMPTY KEG DEPOSIT 30L			0	5
				0.00	5.00

Stock Received

fk0001u	KAMIKI ORIGINAL (1 X 500ML)			1	6
fk0002	KAMIKI INTENSE WOOD 500ML			6	36

Checked By: _____

Receiver: BK44ybZN

Transport Company: _____

Checker: BK44ybZN Theft

Driver Signature: _____

16/01/2025 09:51:56 AM

1/2

Warehouse IBT Receive Note

Flare Beverages (Pty) Ltd

From: 001 Cape Town Sales Store
 C/O LRSA
 Cnr Anfield and Range Rd's
 Blackheath
 7561

Manager: John Sterianos
Telephone: 021-9038874
Fax:

To: 015 KZN Depot
 c/o Liquor Runners
 30 Hillclimb Road
 Mahogany Ridge, Westmead
 3610

Warehouses
 Goods In Transit: 026 Stock in Transit to KZN
 Variance Goods: VG Variance Goods
 Damaged Goods: DG Damaged Goods

IBT Number	Date Issued	Date Received	Delivery Note Number
IBT01026	2025/01/03	2025/01/16	IDEL01003

<u>Item Code</u>	<u>Item Description</u>	<u>Unit</u>	<u>Qty Issued</u>	<u>Qty Received</u>	<u>Variance Qty</u>	<u>Damaged Qty</u>
P0059	Paulaner Munchner Hell Cans (t Com17		20.00	20.00	0.00	0.00
P0053	Paulaner - Hefe Weissbeir Cans Com17		20.00	20.00	0.00	0.00
ERD007	Erdinger Brauhaus Lager 30 Ltr 30 Ltr		10.00	10.00	0.00	0.00
ERD017	Erdinger 30ltr DEPOSIT (Outgoi Dep		10.00	10.00	0.00	0.00
ERD008	Erdinger Brauhaus Radler 30 Lt 30 Ltr		5.00	5.00	0.00	0.00
ERD017	Erdinger 30ltr DEPOSIT (Outgoi Dep		5.00	5.00	0.00	0.00
			<u>70.00</u>	<u>70.00</u>	<u>0.00</u>	<u>0.00</u>

Received by _____
 Date _____
 Signed _____



PO Box 81
Blackheath
7581
VAT No.: 4360199048
Co Reg: 1998/019686/07

Tel : CPT : (021) 905 8163
Tel : JHB : (011) 974 1513
Tel : PE : (041) 451 0266
Tel : BFT : (051) 435 4711
Fax : CPT : 086 231 2843

Warehouse Transfer Document

Transfer Date : 2025/01/03

Page 1

Reference No: IBT01026
Pallet Total Estimate IBT KZN V2

From Store : Cape Town Sales Store
C/O LRSA
Cnr Anfield and Range Rd's
Blackheath
7561
021-9038874

To Store : Stock in Transit to KZN
c/o Liquor Runners
30 Hillclimb Road
Mahogany Ridge, Westmead
3610

Item Code	Item Description	Ref	Unit	Quantity	Unit Price	Value
P0059	Paulaner Munchner Hell Cans (6x4x500ml) 1	6x4x500ml	cases	20.00	398.65	7 973.00
P0053	Paulaner - Hefe Weissbeir Cans (6 x (4x500	6x4x500ml	cases	20.00	398.41	7 968.12
ERD007	Erdinger Brauhaus Lager 30 Ltr	30 Ltr	kegs	10.00	956.11	9 561.10
ERD017	Erdinger 30ltr DEPOSIT (Outgoing FULL)	Dep		10.00	250.00	2 500.00
ERD008	Erdinger Brauhaus Radler 30 Ltr	30 Ltr	kegs	5.00	817.53	4 087.65
ERD017	Erdinger 30ltr DEPOSIT (Outgoing FULL)	Dep		5.00	250.00	1 250.00

Received in good order

Signed : _____ Date : _____

Total Quantity 70

Total Value 33 339.87